e r—————————

¢ RENDRIVA VIDYALAYA SANGATHAN, BENGALURU
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Time Allowad 103 Howrs ~ Maximum Marks : 80
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O Alguastions are compulsory,
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G The Question papar consists of 30 questions divided intorfour sections - A, B, Cand D.
(L fon contal 2 B quastions of 1 mnrk each, Section-B comprises of 6 questions of 2
marks aach, SectionsC comprises of 10 quuuom of 3 marks each and Section-D
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compises of Squastions of 4 m.\m each,
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O There is na overall cholce however ternal choice hive been provided in'1 question of

alasnan

. Jkamatjves tn altsuch qtiastien’s
() Useof saleulator is not permitted, N
\R(" TION-A

Quastion numbars 1 t & carry L wark each,

: D " 3.2 B 5
< Rositivae integers 3 and b are written asa = x’y? and b=xy*,x and y are prime

numbars, find the HCF of (a,h).

2, W3isaso utoa of 3™+ (k= 1) x+9 =0, then k=?
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. Findthaaraofa tn‘éngle farmed by (1, ~4),(3,-2) and (-3, 16) .
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T AABC ~ ARPQ,AB=3cm,BC =5¢m,AC=6 cm, RP =6 cm and PQ = 10 cm. then, find CLR
In the figureRQis a twngent to the'citcla with centre O. if SQ 6 cm, QR-4 cm. Fmd OR.
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8. Find the probability of getting 53 Fridays in a leap year.

SECTION-B
Question numbers 7 to 12 carry 2 marks each.
Show that 8" cannot end with digit 0.for any;natural number n.
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. Find the roots ofthe quadntlc equatlon v +$= 0 . ‘
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9. Is&8aterm oF the APP. 7, 10, 13,....7.
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Prove that the tangents drawn at the end paints of the diameter of a circle are parallel.

11.  If SinA = CosA, find the value of 2 tanA + sin®A + 1.
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12.

13,

14.
45,
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If the pomt P(2,2) i is equldistant from the pounts A (~2 k) and B({-2k,-3 ),find k
SECTION C

(Question numbers 1310 22 carry 3 marks each..)

X ;4x2-—2(a2+b?)x+a2b2.'=o -
T or 4 ‘

of two numb_en_szi:s:&zD@LE[[Uin,e’th@ n

Solve for

umbers if the sum of their reciprocals is

The sum ¢
8 L e sennitisa s tawe Bl '
“Show that3+5«/§ isan 1rrat|ona| number g e} ; b3
19—21 is
The mean of the following . distribution, is, 18 The freCluency f in the class
m|ssmg DetermmEf [ AN ' '
: . . 1 .:‘:?'.,... 8 fr __2_3———554‘
o [ems | [ai—i3[13—15 1507 ) , o
interval
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Draw a circle of radius 3cm. Draw a pair of tangents to this circle inclined to each other
at an ang_le of 60°. '

17.

ak:

19.

A chord of a c1rcle of radius 21cm subtends an angle of 60" at the centre. Find the area of-l

usen=%— and J_ 173]

E
bucket is in the shape of a frustum of a cone of height 16cm with radii of

An open metal
its- Iower and upper ends as 8cm and 20cm respectlvely Find the cost of milk which. can

the correspondlng mmor segment of the curcTe [

. completely fl” the bucket at Rs 20 per Iltre [ usemn = %2-] i

The lme segmentjolmng the points A( 3 2 ) ‘and B( 5,1 ) is divided at the point P in the
2 and.P.lies on the line 3x—18y +k=0:-Find-thevalue-ofke—eoc . . '

20.
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From the top of a 7m high bunldlng, the angle of elevation of the top of a tower is 60°
and the‘'angle’ ofdepressmn of its foot is 45°. Find the helght of the tower.

" (Take3= 1732)
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21.

22.

Provethat:’A ey i
g i 3 1

ca-secd——eam si:n& " sind J cosex:rl—i—mtﬂ

The kmg, queen and Jack of dlamonds are removed from a pack of 52 playing cards and
- then the remaining cards are well shuffled. Now one card is drawn at random from the
remammg cards. Determine the probablhty that the card i is ;
a)alack - b)aHeart . c) ared Queen
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SECTION-D
(Question numbers 23 to 30 carry 4 marks each)
An  aeroplane left 40 minutes late due to heavy rains and in order to reach its
destination, 1600 Km away in time, it had to increase its speed by 400 Km/hr from

its original speed. Find the original speed of the plane. '
24. " In aflower bed, there are 23 rose plants in the first row, 21 in the second 19 in the
third and so on. There are 5 rose plants inthe'dst row. How maﬂy rows are there
in the flower bed? Also find the total number of plants. - ‘ ; I
25, Find the volume of the largest solid right circular cone that can be cut out of solid - ".
cube of side 14cm. - " . . : ‘ i
o orR ‘ll
" A-solid is in the form of a cylmder with hemlspherrcal ends The total height of the A ’,
solid is 19cm and diameter of the cylindrical and hemrspherrcal parts is 7cm: Find: - |
the total surface area of the SOlld e ‘ l ‘
26. Fmd graphically the solutron ofthe equatrons X+2y= - 8; V‘_ x=1 Eél
.. Find'the coordmates of | the  points where the two lines meet the y-axis. ‘l
27. °  Two hoardings on cleanliness are put-on two poles. of equal heights standmg l
opposite to each other on either side of the road, which is 80m wide. From a point |
. " between them on the road, the angles of elevation of the top of the poles are 60° |
5 and 30° respectlvely Find the herght of the poles and the distance of the point
from the poles. : 3 ) ' ‘
a) How can we spread awareness for cleanlrness in asociety? i
b) Does cleanlmess play-any role in the development of'the socrety'F
| L 28, Prove that a parallelogram crrcumscnbmg a crrcle isa rhombus
1
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A circle touches the side BC of a triangle ABC at a point P and touches AB and AC . f

produced at Q and R respectively. Show. that AQ—_-E (perimeter of triangle ABC)
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29. In the given figure, AB “ PQ “ CD, AB =X units ,CD =y units and PQ = z units, prove that
! ‘ A 5 v
! 1 1 1
S + _— T e
x y -z
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| 30. lowing table gives the wages of 100 workers:
) LWages in (Rs) \ 20-30 | 30-40 | 40-50 | 50-60 | 60-70.| 70-80
- LNumber of Warkers | 10 15" \ 30 32 8 5 | E
i e Change the above distribution to less than type distribution and draw its ogive. Hence, %
: Obtain the median value. B
30. lowing table gives the wages of 100 workers:- 3
Wagesin (Rs) | 20-30 \ 30-40 | 40-50 \ 50-60 \ 60-70 \ 70-80 \ i
R E ) . - y
s Number of Warkers | 10 \15 | \30" ' \32 \8 \ 5 \
Change the ahove distrib___ufioh to less than type distribution and draw its ogive. Hence, &
Obtain the median value.
:
:
i



